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1. Welche	Aussage	ist	richtig?	 A	 53		>		35	

B	 53		<		35	
C	 53		=		35	

	
2. Welche	Aussage	ist	richtig?	 A	 1	000	0001	=	1	0002	=	1003	

B	 1004	=	106	=	512	
C	 27	=	72	

	
3. Untersuche	folgende	Behauptung:	x3	<	x2	 A	 Ist	das	richtig,	wenn	0	<	x	<	1?	

B	 Ist	das	richtig,	wenn	x	=	1?	
C	 Ist	das	nie	richtig?	
D	 Ist	das	richtig,	wenn	x	=	0?	

	
4. n	ist	eine	natürliche	Zahl.	Welche	Aussagen	sind	richtig?	
	

A	 Wenn	x	gerade	ist,	ist	auch	xn	gerade.	
B	 Wenn	x	ungerade	ist,	ist	auch	xn	ungerade.	
C	 Wenn	x	nicht	Vielfaches	von	5	ist,	ist	auch	xn	nicht	Vielfaches	von	5.	

	
5. 1733	:	1732	=	
	
6. Entscheide,	ob	die	Gleichungen	richtig	sind.	 A	 25	:	26	=	2	

B	 25	:	26	=	0,5	
C	 25	:	26	=	2	:	4	
D	 25	:	26	=	21	:	22	

	
7. n	ist	eine	natürliche	Zahl.	Welche	Aussagen	sind	richtig?	
	

A	 n3	ist	halb	so	gross	wie	(2n)3.	
B	 n3	ist	viermal	kleiner	als	(2n)3.	
C	 n3	ist	achtmal	kleiner	als	(2n)3.	

	
8. Berechne:	43	–	42	·	43	:	42	=	
	
9. Berechne:		(106	:	103	–	102)	:	9	–	10	=	
	
10. Wie	viele	Nullen	(nicht	Stellen)	hat	die	Zahl	5	0007?	


